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Stefan’s Law o &

Stefan’s law: When a body is at a temperature higher than that of surrounding radiation loss take
place. The amount of energy lost due to radiation per second per unit surface of a given body is

proportional to the difference of fourth power of temperature in absolute scale of the body and the
surrounding.

U o[t -T1/]
U= O-[T ’ _TOA]
Where Ty and T are the temperature of the surrounding and the body.

U = Amount of energy lost due to radiation per unit surface area per second.

o = constant of proportionality known as Stefan’s constant

U
o= Joulem?2StK*

o =1.455x10°
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